Hana Financial Group

Singapore
Women’s Open

|>.Q

)

<7

Khu

<l

Ho
i00

IH

IH

IH

IH

IH

IH

IH

~ L o o o L
M m o LN (V] (gp] —
2 | 3| alal|n|a|
o = < = < <
© © © © ©
|
= 2l _|8 X
Kr nlnmln|s|ol i olo|lo|lo|o|w
i nl=|an|8|=|8| |n|lnla|a|alo
< O | ©O o — O — |0 N il
3l < < =
fhu
- W | o | om
3 g | g | @ = | = | ¢
m N N N N N
= - | M| | MU U | — | WU | o | U
=< & M./l & i i X i X M./l X
H ol o4 | [20]% |20 20| o
m_A___ U RO 30| RO | U RO 30| KT S| &
X K K K K KHu
= Ho Ho Ho Ho Ho
! 2| @ || ® | | »
70 jod jod jod jod Jod
o [y o [y o
o
Khu K o= o= o
I
-
ol ol ol ol ol
[+74] O < o O

B &= (OtA|OtL

o o
(V] (V]
~ ~
< <
O O
o LN
< M
2134|238 =|3
QIR eS| | N & o
[qV] (qV]
m) m) on o
= | @ || £ ¢
~ ~ PN) PN)
AN
ol ol o N
<0 <0
fl Ml | KM Ml Ml
Khu Khu Khu Khu
= = =
= = = =
=2 i 2 2
o o o o
r r 1 1
Kiu Kiu T o=
ol ol o. o-
< [454]




IH

IH

I

I

I

I

Hana Financial Group

Singapore
Women’s Open

|>.Q

)

<7

wn N L N
M < [qV] (qV] [qV]
0 NN N NN N
T < < < < <
O O O O
~
< LN
- [¥p)
N I A R
H Sl ¥ o|alaC] ol R|elnl<l &
~ O v« | — | N| |l Ol O|O| v~ | v« | N
) <
Kfu
o o | o | iy ou | ou | oo
3 & | 2| 3 = | = | <
° ~ | & | Jd S | 8| X
= oy [ oy | | L
— N o~ N | = N N | = N | = [N P~
H ol 20 ol 0 ol 20 20 ol 0 ol 0 ol
mJ__ s dE R Ed REN R s
i K| LH | K| Lo | Kb | Lo K K K
=~ | | | |
o Mo | A Aol H
ﬂo-o ™ ™ ™ ™
0 0 0 0 0 0
i i i 1L 1 1L
Khu Khu Kiu = = =
||
_-_I
ol ol od ol ol ol
< o (@) < o (@]




> [

A

y #__ Hana Financial Group
+ /) Singapore

Women’s Open

= MIIEE > SKQ HE
X HF
=3 /
= Sk 2 Hd} ol = 7k
TE s3AL EUX| = A 2 X} SR = A2
>=d} AlJI= 0725
Aot | o= | azme | =% < I TR 2 Al7t05 &
L& = X2 08:30
=4 HIHE 13:05
BOt | 92 | AzE Ez ;q: 12/11(Y) By 2 A|ZH05 &
=4 HIHE 16:10
cot | 9= | 2zne Ez ;q: 12/11(2) —p 2 AlZtos &
e HIE 13:05
=
A | = | b 53 ;q: 12/11(2) o 1|7t 50 &
=4 HIE 17:00
BOH | 2T | mloAn — oxe | M@ - 2 AlZtos &
X HdHF
=5 /
=2 Skl Al =115 oA olx = A|ZE
:r" c!'o |' =2 | | = |' EE!'M?." =) |
=4 HIE 13:15
Ao | 2= | HEY 52 ;q: 12/11(2) - 2AZt20 8
e HIE 18:25
== (=] =
B ¢t A= HI E 12/11(2) 2 AlZtos 2
= = S%| 0l = 19:30
e HIE 20:45
== o =
cot | 2= | HEY 12/11(L 2A|Zt20 &
- - & Sx|al /M) 22:05
=4 AIE 09:50
o} ol Al 2 ol Al 7 =]
A ¢t A= | MIIEE o sx|al 12/11(2) 1100 2AZH10 E
=4 AIE 13:50
o} ol Al 2 Ql AlZF =}
B ¢! 2= | MItEE o sx|al 12/11(2) 505 2 AlZH15 &
%HL AIjl-E 1730
cot | 9= |AMvtm= = === 12/11(2) 2 AlZH10 &
Sy = X8 18:40




